V4[] WAL-RICH CORPORATION . SPECIFICATION PAGE

Job Name:

WWR =

Contractor:

WAL-RIC H Engineer:
CORPORATION | pprovar

“Crown” Pack -Washers & Screws- (“Home-Pack”)

Operating Specifications:
« Washer Durometer Hardness: 80
» Washer Color: Black

Kit Includes:
24 Plastic Boxes Containing:

Brass Bibb Screws - 3 pcs
« 3/8 x 6/32 Bibb Screw (1)

« 3/8 x 8/32 Bibb Screw (1)

« 3/8 x 10/32 Bibb Screw (1)

Neoprene Washers - 20 pcs
* 00 Washer - 1/2” OD (5)

* 0 Washer - 17/32” OD (5)

* 1/4 Washer - 9/16” OD (5)

* 1/4 L Washer - 19/32” OD (4)

* 3/8 Washer - 5/8” OD (1)

W-R# Description Weight Min Box
2706002 Bevelled 1.42 Ibs. 1 12
2706004 Flat 1.33 Ibs. 1 12

CALL (800) 221-1157 . www.wal-rich.com . FAX (516) 277-2177




